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DO NOT BEGIN WORKING 

UNTIL THE INSTRUCTOR TELLS YOU TO DO SO.

READ THESE INSTRUCTIONS FIRST
You have 75 minutes to complete the exam, which consists of 4 problems ( Part I ) and 20 multiple-choice questions (Part II). Each problem  is worth 10 points for a total of 40 points, and each multiple-choice question is worth 3 points for a total of 60 points. This exam has 10 pages.

Please answer Part I on this test booklet making sure that your answers are legible and that you are using complete sentences. Show all work and formulas used. Your explanations will determine the grade.

Please answer Part II on your coding sheet with a #2 pencil. Choose the best answer from the five alternatives offered.  Be sure to fill in the coding sheet carefully and accurately.

How to fill in the coding sheet:
1. Print your last name, first name and middle initial in the spaces marked “Last Name,”“First name,”and 
“MI.”   Fill in the corresponding bubbles below.

2.  Print your student ID number in the spaces marked “ Identification Number.”  Fill in the 
corresponding 
bubbles below.

3. Write your discussion section number under “Special Codes” spaces ABC, and fill in the bubbles.

4. Write your version number under “Special Codes” space D and fill in the corresponding bubble.

Discussion sections are as follows:
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If you have any questions during the exam, stay seated and raise your hand.

When you are finished, please get up quietly and bring your code sheet and this exam booklet to the place indicated by the instructors.

Stop, take a deep breath, and think carefully before you answer any questions. There are no intentional “tricks”; however, not all answers are intended to be obvious. Good luck!
Part I. Problem Type Questions (4 problems at 10 points each for a total of 40 points)
1.  Use the following information to answer this question.  Please show all your work and formulas used.

Compensation of employees




40

Government purchases




13

Rental income






1

Imports






8

Exports






7
 


Proprietors’ income





5

Corporate profits





6

Consumption expenditure




46

Indirect Taxes minus Subsidies



5

Net interest






4

Transfer payments





7

Personal Taxes





3

Depreciation






7

Gross Investment





11

Receipts of factor income from the rest of the world

1

Payments of factor income to the rest of the world

2

a) (2 pts.) What is the value of Net Exports?

b) (2 pts.) Using the expenditure approach, calculate GDP. 

c) (2 pts.) Using the income approach, calculate GDP.

d) (2 pts.) What is the value of National Income?

e) (2 pts.) What is the value of GNP?

2.  Consider two isolated islands, Badgerland and Packerland in the Pacific ocean.  The only food you can get in these islands are fish and coconuts.  A person in Badgerland can collect 8 coconuts or catch 3 fish in an hour but a person in Packerland can collect only 6 coconuts or catch 2 fish in an hour.  It is also known that each person works 8 hours per day and the population of each island is 10.

a) (2 pts.) One the same graph, sketch the production possibility frontiers for both islands.  Put coconuts on the y-axis.  Indicate the values of both y and x-axis intercepts.  Label both PPFs clearly.

b) (2 pts.) What is the opportunity cost of catching the 5th fish in Packerland?

c) (2 pts.) Which island has an absolute advantage in coconut production?

d) (2 pts.) Which island has a comparative advantage in fish production?

e) (2pts.) If  trade between the two islands exists, which island exports fish?

3.  Use the following equations to answer this question.  Please show all your work and formulas used.

Demand:

P = 14 - 2Qd

Supply:

P = 2 + 4Qs

a) (2 pts.)What is the equilibrium quantity and price for this market?

b) (2 pts.) Suppose that the marginal social cost of producing this good is defined by the following relationship:

P = 4 + 4Qs

What is the socially optimal equilibrium quantity and price for this market?

c) (2pts.) What excise tax could be imposed on suppliers by the government to attain the optimal equilibrium?

d) (2 pts.) If the tax in part c) is imposed on producers what is the total tax revenue collected by the government?

e) (2 pts.) What type of market failure exists in this problem?

4.  Consider the demand and supply for cans of hair spray

Demand:
P = 40 - Qd

Supply:
P = 10 + 0.5Qs

When solving this problem show all your work and formulas used. Make sure your answers give units of measurement.

a) (2 pts.)  Find the market equilibrium price and quantity for cans of hair spray.

b) (2 pts.) What is the consumer surplus?

c) (2 pts.) What is the producer surplus?

d)  (2 pts.) If the government imposes a tax on suppliers of $15 per can of hair spray, calculate the loss in consumer surplus due to the imposition of this tax.


Loss of consumer surplus_______________

e) (2 pts.) What is the dead weight loss due to the imposition of this tax?

Part II. Multiple choice questions (20 questions at 3 points each, for a total of 60 points)
1.  When the PPF is bowed out from the origin, this means that the:

a)  Opportunity cost of producing additional units of the y-good increases as you increase the production of good y.

b)  Opportunity cost of producing additional units of the y-good decreases as you increase the production of good y.

c)  Opportunity cost of producing additional units of the y-good stays constant as you increase the production of good y.

d)  Technology improved.

e)  Both c) and d)
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2.  According to the graph, which of the following is true?

a)  Country B’s production possibility frontier illustrates specialization of resources.

b)  Country A has a comparative advantage in french fries.

c)  Country A has a comparative advantage in hamburgers.

d)  Both countries have a comparative advantage in french fries.

e)  Neither country A, nor country B has absolute advantage.

Use the following demand and supply model to answer question 3 and 4:

Qd = 40 - 2P

Qs = -11 + P

3. Suppose the government sets a price ceiling of $18. Using the demand and supply curves given above, what will be the effect of such a policy?

a)  Excess supply of 3 units

b)  Excess demand of 3 units

c)  No effect

d)  Excess supply of 11 units

e)  Excess demand of 11 units

4.  Now suppose that the government wants to restrict the quantity bought and sold to 4 units. If the government imposes an excise tax to reach this goal, what is the collected tax revenue from this tax?

a)  $4

b)  $3

c)  $40

d)  $12

e)  $20

5.  Which of the following transactions would be counted in GDP?

a)  The purchase of a used car from your neighbor.

b)  An unemployment insurance payment received by an unemployed auto worker.

c)  The purchase of 10 million shares of GM stock by a household.

d)  The purchase of American-produced beer by a Japanese importer.

e)  The sale of $500 worth of illegal drugs.

6.  Which of the following is NOT true?

a)  A surplus in the market could be caused by a price floor.

b)  The allocatively efficient points are always productively efficient.

c)  The scarcity of resources makes a production possibility frontier bowed out from the origin.

d)  Depreciation is included in the GDP.

e)  A change in income causes a shift of the demand curve.

7.  You observe that the price of  a tennis racket has gone up but the number of tennis rackets sold and bought in the market is the same.  Which of the following could best explain these facts?

a)  The price of a can of tennis balls has gone up.

b)  Income doubles and simultaneously playing tennis becomes more popular.

c)  The price of a can of tennis balls has gone up and simultaneously the wages of workers in the tennis racket industry increase.

d)  Playing tennis becomes more popular and simultaneously the wages of workers in the tennis racket industry increase.

e)  A study is released stating that playing tennis causes back pain and simultaneously workers in the tennis racket industry go on strike.

8.  John can make 6 sweaters or 3 pairs of shoes per day.  What is John’s opportunity cost of making a pair of shoes in terms of sweaters?

a)  2 sweaters.

b)  3 sweaters.

c)  4 sweaters.

d)  5 sweaters.

e)  6 sweaters.

9.  Which of the following is a component of U.S. GNP, but is not a component of U.S. GDP?

a)  The wages of an American manager working in one of Ford’s assembly lines in Mexico.

b)  The wages of a Mexican manager working in one of Ford’s assembly lines in Mexico.

c)  The wages of a Mexican manager working in one of Ford’s domestic assembly lines.

d)  The wages of an American manager working in one of Ford’s domestic assembly lines.

e)  The wages of all Ford employees worldwide are components of both U.S. GDP and GNP.

10.  Assume the domestic market for wheat is perfectly competitive, and that wheat is a normal good.  If the yield on all domestic wheat farmland increases by 50%, and the income of all domestic residents increases, what will be the impact on equilibrium domestic wheat prices and consumption?

a)  Both the price and quantity of wheat will increase.

b)  Both the price and quantity of wheat will decrease.

c)  The price of wheat will increase, and the impact on quantity will be indeterminate.

d)  The quantity of wheat will increase, and the impact on price will be indeterminate.

e)  The impact on both price and quantity will be indeterminate.

11. Which of the following is NOT a function of the U.S. government?

a)  Provide public goods and help correct the externalities.

b)  Maintain a stable price level and stable interest rates.

c)  Redistribute income through taxes and government spending.

d)  Allocate all resources of the economy.

e)  a) and b).

12.  Which of the following identities is INCORRECT?

a)  GNP = Net factor payments from the rest of the world + GDP

b)  NNP + Depreciation = GNP

c)  GNP = C + I + G + (X - M)

d)  GDP = National Income + Depreciation + Indirect Taxes - Subsidies + Net factor payments to the rest of the world

e)  National Income + Indirect taxes - Subsidies = NNP

13.  In a two sector circular flow model of an economy, input markets are characterized by:

a) Households supply labor.

b) Firms supply goods.

c) Firms demand goods.

d) Government supplies labor.

e) Households demand goods.

14.  Nominal GDP is higher this year than last. We can conclude that:

a) Production levels are higher this year.

b) There are fewer goods imported this year.

c) There is no depreciation this year.

d) Price levels are higher this year.

e) We need more information to answer this question.

15.  The supply curve of gasoline in Madison is perfectly vertical. Due to the popularity of Madison among young professionals, the population doubles, thus inceasing the demand for gasoline. Which of the following statements is true?

a)  The increase in demand will be accompanied by a decrease in price.

b)  The equilibrium price will go down in the short run, due to market forces.

c)  There will be no change in the quantity sold.

d)  The quantity supplied will decrease and thus cause a shortage of gasoline.

e)  b) and c).

Answer questions 16 and 17 using the following demand and supply equations for milk:

Demand:

P = 20 - 2Qd

Supply:

P = 2 + Qs

16.  What is the equilibrium price and quantity?

a)  P = $8,  Q = 6.

b)  P = $7,  Q = 5.

c)  P = $9,  Q = 7.

d)  P = $10, Q = 8.

e)  P = $6 , Q = 4.

17.   The government decides to provide a $3 per unit subsidy to milk producers. What is the new equilibrium price and quantity?

a)  P = $8,  Q = 6.

b)  P = $11, Q = 9.

c)  P = $10,  Q = 5.

d)  P = $6, Q = 7.

e)  P = $10, Q = 4.

18.  A farmer has a lot of cows and sells the beef to a butcher for $1.50. The butcher turns the beef into sausages and sells them to a pub for $2.50.  At a tailgate party, the pub owner sells the sausages to a student for $4.00. What is the value added by each person?

a) farmer $1.50; butcher $2.50; pub owner $4.00.

b) farmer $1.50; butcher $1.00; pub owner $1.50.

c) farmer $0.00; butcher $2.50; pub owner $4.00.

d) farmer $1.50; butcher $1.50; pub owner $1.50.

e) farmer $1.00; butcher $1.00; pub owner $2.50.

19.  Which of the following is LEAST likely to be a public good?

a)  National defense.

b)  Lighthouses.

c)  Radio waves

d)  Medical treatment for AIDS.

e)  b) and c)
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20.  According to the graph which of following is true?

a)  If the economy operates at point A, there will be high economic growth.

b)  Point B is not efficient.

c)  Point A represents less investment than C.

d)  A, B and C are feasible.

e)  At point A, the society puts more emphasis on consumption than on investment.
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